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Missing Mass Recap
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(Q?=5.5, W=3.02) Dave suggests calculating data/simc ratio over a range
of potential cut values
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Aside: What About HGC?

-+ 0.09- 0.21 “t 0.21- 0.29

== Data (no HGC) == Data (no HGC)

: 0.29- 0.37

-t 0.37- 0.49 -t 0.49- 0.75
== Data (n0 HGC) == Data (N0 HGC) = Data (N0 HGC)

— Data = Data s Data
== SIMC == SIMC == SIMC

f n n s s n
T 11 i Tos ~1iTE
Ml

T2
Mpi

Older plot (Q2=3, W=2.32): shows that HGC does not much affect the
neutron tail region
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Data/SIMC Ratios (1)
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(Q°=5.5, W=3.02) Ratios as a function of missing mass cut (MMpi>X)
Looks very different in different bins — problem for L/T separation
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Data/SIMC Ratios (2)
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(Q2=4.4, W=2.74) Ratios as a function of missing mass cut (MMpi>X)
Looks very different in different bins — problem for L/T separation
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Data/SIMC Ratios (3)
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(Q°=3, W=3.14) Ratios as a function of missing mass cut (MMpi>X)
Looks very different in different bins — problem for L/T separation
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Another Approach (1)
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(Q2=5.5, W=3.02) Look at range in which data is flat
Suggestion: MMpi>1.01: cut dependence +0.02, i.e. 0.99 and 1.03
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Another Approach (2)
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(Q?=4.4, W=2.74) Look at range in which data is flat
Suggestion: MMpi>1.01: cut dependence +0.02, i.e. 0.99 and 1.03
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Another Approach (3)
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(Q2=3, W=3.14) Look at range in which data is flat
Suggestion: MMpi>1.01: cut dependence +0.02, i.e. 0.99 and 1.03
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Delta Correction (1)

Missing Mass MMpi vs Mx
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Delta Correction (2)

Missing Mass MMpi vs Mx
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Delta Correction (3)

Missing Mass MMpi vs Mx
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Delta Correction (4)

Missing Mass MMpi vs Mx
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BGu Model

Email response from BGYu: LT’ predictions!
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